

NEINOR HOMES, S.A. (the "Company"), pursuant to the article 228 of the consolidated text of the Spanish Securities Market Act and by the Circular 1/2017 of the Spanish Securities Market Commission (CNMV) regarding the liquidity contracts, hereby notifies the following:

OTHER RELEVANT INFORMATION

In relation with the significant event published the 27th September of 2017 with registry number 256770 regarding the liquidity contract and in accordance with the provisions contained in rule fourth paragraph 2b) of Circular 1/2017, the Company attaches the detail of the transactions for the period comprised between 01/10/2020 and 31/12/2020.

Date	Concept	Shares	Cash Balance (€)	Average Price (€)
27/09/2017	Initial Balance of the Agreement	28,000	500,000	
01/10/2020	Initial Balance of the period	44,999	386,078	
	Acquisitions of the period	88,896	914,715	10.29
	Sales of the period	83,744	861,526	10.29
31/12/2020	Final Balance of the period	50,151	332,890	

Madrid, January 19th, 2021.

Transactions according to trading dates.

No block trades were performed by the liquidity agent during the period.



Date of Transaction	Transaction	Number of Transactions	Total Shares	Average Price	Total Euros
01/10/2020	Acquired	1	150	10.90	1,635
01/10/2020	Sold	4	4,242	11.01	46,687
02/10/2020	Acquired	4	1,331	10.94	14,565
02/10/2020	Sold	3	813	10.99	8,932
05/10/2020	Acquired	4	2,000	10.91	21,820
05/10/2020	Sold	2	1,000	10.94	10,940
06/10/2020	Acquired	1	500	10.84	5,420
06/10/2020	Sold	3	1,291	10.93	14,111
07/10/2020	Acquired	4	1,700	10.91	18,554
07/10/2020	Sold	1	202	11.06	2,234
08/10/2020	Acquired	4	2,200	10.83	23,824
08/10/2020	Sold	1	500	10.90	5,450
09/10/2020	Acquired	7	1,800	10.70	19,264
09/10/2020	Sold	2	800	10.77	8,614
12/10/2020	Acquired	7	1,722	10.74	18,493
12/10/2020	Sold	3	1,333	10.75	14,325
13/10/2020	Acquired	3	896	10.75	9,628
13/10/2020	Sold	2	1,100	10.77	11,850
14/10/2020	Acquired	2	143	10.76	1,539
14/10/2020	Sold	2	484	10.79	5,221
15/10/2020	Acquired	4	1,600	10.58	16,928
15/10/2020	Sold	4	1,649	10.62	17,506
16/10/2020	Acquired	1	200	10.84	2,168
16/10/2020	Sold	5	2,899	10.86	31,486
19/10/2020	Acquired	2	700	10.85	7,596
19/10/2020	Sold	1	1,500	10.90	16,350
20/10/2020	Acquired	1	1,000	10.76	10,760
20/10/2020	Sold	3	1,500	10.82	16,230
21/10/2020	Acquired	3	1,300	10.81	14,050
21/10/2020	Sold	3	1,253	10.83	13,573
22/10/2020	Acquired	4	1,800	10.76	19,366
22/10/2020	Sold	4	2,053	10.79	22,145
23/10/2020	Acquired	4	1,600	10.77	17,228
23/10/2020	Sold	4	1,300	10.77	14,000
26/10/2020	Acquired	2	1,100	10.66	11,724
26/10/2020	Sold	3	356	10.65	3,792
27/10/2020	Acquired	7	2,267	10.56	23,931
28/10/2020	Acquired	11	2,000	10.34	20,676
28/10/2020	Sold	5	1,700	10.44	17,756
29/10/2020	Acquired	8	3,000	10.28	30,832
29/10/2020	Sold	3	1,026	10.44	10,711
30/10/2020	Acquired	4	1,400	10.42	14,592
02/11/2020	Acquired	5	1,100	10.28	11,312
02/11/2020	Sold	3	1,188	10.39	12,339
03/11/2020	Acquired	3	1,000	10.38	10,380
03/11/2020	Sold	1	600	10.44	6,264
04/11/2020	Acquired	6	1,400	10.31	14,438
04/11/2020	Sold	4	1,400	10.35	14,492
05/11/2020	Acquired	2	1,500	10.35	15,522



05/11/2020	Sold	2	900	10.42	9,378
06/11/2020	Acquired	4	1,000	10.32	10,320
06/11/2020	Sold	2	600	10.33	6,198
09/11/2020	Acquired	2	321	10.38	3,331
09/11/2020	Sold	2	900	10.39	9,354
10/11/2020	Acquired	3	900	10.27	9,246
10/11/2020	Sold	1	600	10.20	6,120
11/11/2020	Acquired	4	2,000	10.18	20,350
11/11/2020	Sold	2	1,062	10.16	10,792
12/11/2020	Acquired	2	623	10.20	6,353
12/11/2020	Sold	2	1,100	10.19	11,210
13/11/2020	Acquired	3	1,000	10.12	10,120
13/11/2020	Sold	4	1,361	10.15	13,810
16/11/2020	Acquired	3	1,500	10.11	15,168
16/11/2020	Sold	3	1,500	10.17	15,252
17/11/2020	Acquired	4	1,200	10.02	12,021
17/11/2020	Sold	2	600	10.01	6,003
18/11/2020	Acquired	2	600	9.99	5,994
18/11/2020	Sold	2	1,700	9.99	16,982
19/11/2020	Acquired	5	1,900	9.90	18,815
19/11/2020	Sold	2	900	9.92	8,925
20/11/2020	Acquired	5	1,674	9.85	16,495
20/11/2020	Sold	5	1,800	9.97	17,952
23/11/2020	Acquired	2	907	10.07	9,134
23/11/2020	Sold	4	2,212	10.09	22,315
24/11/2020	Acquired	4	2,500	10.12	25,290
24/11/2020	Sold	3	906	10.09	9,145
25/11/2020	Acquired	7	2,613	10.01	26,155
25/11/2020	Sold	2	734	10.07	7,389
26/11/2020	Acquired	6	1,100	9.97	10,964
26/11/2020	Sold	2	600	9.97	5,979
27/11/2020	Acquired	4	1,500	9.94	14,911
27/11/2020	Sold	4	2,500	9.95	24,880
30/11/2020	Acquired	4	1,200	9.90	11,880
30/11/2020	Sold	3	1,000	9.97	9,972
01/12/2020	Acquired	1	834	9.85	8,215
01/12/2020	Sold	1	1,000	9.90	9,900
02/12/2020	Acquired	4	1,100	9.79	10,767
02/12/2020	Sold	5	2,000	9.82	19,636
03/12/2020	Acquired	1	164	9.97	1,635
03/12/2020	Sold	5	2,218	10.02	22,219
04/12/2020	Acquired	1	300	9.95	2,985
04/12/2020	Sold	2	500	10.08	5,040
07/12/2020	Acquired	6	1,500	9.91	14,861
07/12/2020	Sold	2	900	9.88	8,889
08/12/2020	Acquired	2	1,500	9.91	14,860
08/12/2020	Sold	3	1,000	9.91	9,911
09/12/2020	Acquired	4	2,100	9.82	20,616
09/12/2020	Sold	5	2,100	9.84	20,655
10/12/2020	Acquired	4	2,300	9.79	22,515
10/12/2020	Sold	2	800	9.79	7,835
10/12/2020	L COIG		1 000	5.13	1,000



11/12/2020	Acquired	4	1,000	9.62	9,621
11/12/2020	Sold	5	2,200	9.70	21,338
14/12/2020	Acquired	1	900	9.80	8,820
14/12/2020	Sold	3	900	9.84	8,853
15/12/2020	Acquired	1	600	9.78	5,868
15/12/2020	Sold	7	4,470	9.91	44,293
16/12/2020	Acquired	4	1,400	9.96	13,946
16/12/2020	Sold	1	500	10.08	5,040
17/12/2020	Acquired	5	1,500	9.77	14,652
17/12/2020	Sold	5	1,500	9.81	14,721
18/12/2020	Acquired	6	2,200	9.59	21,095
18/12/2020	Sold	3	1,100	9.61	10,570
21/12/2020	Acquired	3	1,600	9.62	15,384
21/12/2020	Sold	4	1,317	9.66	12,726
22/12/2020	Acquired	5	1,500	9.81	14,712
22/12/2020	Sold	5	1,530	9.78	14,967
23/12/2020	Acquired	3	1,100	9.89	10,879
23/12/2020	Sold	5	1,701	9.92	16,874
24/12/2020	Sold	6	2,300	10.20	23,452
28/12/2020	Acquired	1	300	10.32	3,096
28/12/2020	Sold	3	1,044	10.25	10,700
29/12/2020	Sold	7	2,700	10.57	28,530
30/12/2020	Acquired	9	4,800	10.69	51,324
30/12/2020	Sold	1	500	10.94	5,470
31/12/2020	Acquired	7	4,251	10.84	46,072
31/12/2020	Sold	1	300	10.80	3,240